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I. »ar v. ®27: unavoidable benefit from nXin MR — »aR permits and K11 forbids
a.Version1: if he intends to benefit — all agree 17ox; if he doesn’t intend and it's unavoidable — all agree 1mn
i. Dispute: if he doesn’t intend but it’s avoidable — only according to w1 (3mn 1201 1WRY 127)
1. 7an: per w" - only intent matters>7mmn
2.X27. even " only permits when unavoidable 708
b. Version2: if it is avoidable but he has no intent — that is subject to the dispute nT> /9"
i. If: unavoidable and unintended — all agree that it is permitted
ii. But: case is where it is unavoidable but he intends nxin; all agree that w™ ("3 ana 918) would prohibit
iii. Dispute: according to nTn? 9
1. 7an: permissible, since N’ "1 ignores intent and only prohibits when it can be avoided
2.x17. prohibited; nmn> 1 only ignores intent X5pY
c. Arguments: in favor of each position
i. »ax: 1711 would sit in shade of the 92’0 to teach (unavoidable but intended)
1.x427 focus of building is inside; shade not considered “usual manner of nRin”
ii. A27 they would lower workers into p"1p so they wouldn’t benefit from seeing it (unavoidable but intended)
1. 7an: there is no n%yn with sight, sound or smell
a) Therefore: this special practice was unique to ¥7pn and doesn’t speak to general nRin MO*R
iii. A27(alternate): since N1 NRIN ,91p have no nYyn; yet they are still 1or

1. Answer: moR only for those outside; inside (unavoidable) — permitted (even if intended)
II. Status of “smell” vis-a-vis “trespass” (n%’»n)

a.Challenge: smell has nyn — if someone enjoys the smell of the nmop
i. Answer: after the mxn is completed, it is permitted
ii. Challenge: still prohibited to use ashes (970 nmN) — even thought ymxn nwy
1. Answer: 1070 NN (v. 1) and N3 *1a (v. 2) are TNRI DIRAN PPINI 1Y DPTRYN PR
2.Challenge: RoYT 1 (contra 1121) holds that N3 *12 may be used after 2"nv
a) Answer: w11 NN and nay 1YY (v. 3) are TNRI PRIN PN AV PTNYN PR
b) Note: this is only valid if you hold pabn pPR...122102 1w; but, N 7 hold pnon
i. Block: in any case, each passage is marked as exclusive - 1w and navya
III. Revisiting the navy n%ay (and, in tandem, nmTR N19; both of which may not have been worked)
a.If: he brought the n18/n%y into the pen and it threshed — valid; in order to nurse, plow or v1-invalid (per v. 4 - nTay)
i. Note: this supports 8171 — unavoidable but intended benefit prohibits
ii. rather: more similar to T:1 119 - if a bird landed on it - still valid; it mounted by a male — invalid
1.reason (977): T2yis written as active verb but vocalized as passive
a) Resolution: if he intended the benefit — as if he did it and 1vox
IV. Conclusion (817/71R) —
a. Argqument: from ruling re: nT°aR — may not be used, even if unavoidable (n27x%)
i. Rejection: that is due to the damage that may come to it (»70 Y or ©a1) — not because of XN NONR
b. Argument: n:0 DRY3 — garment peddlers may wear 1oyw, as long as they don’t intend nxin
i. However: the pyny would put it on a stick over their backs
ii. In other words: avoidable (could follow yny’s behavior) but unintended nxin is permitted
1.Refuting: a1 (version 1)
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